


Select the set in which numbers are
related in the same way as are the
numbers of the following sets.

(NOTE : Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits. E.g. 13 -
Operations on 13 such as addling/
deleting/ multiplying etc. to 13 can
be performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and 3
is not allowed)

(16, 264, 288)

(12, 150, 168)
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Which of the option figures
represents the correct water image of
the figure given below?

P Py afd o & T el
P W8l o Afafer & ISR a7




If T = 50, CAN = 45, then ‘FEAT’ will
be equal to?
gfe T = 50, CAN = 45, § I ‘FEAT’

fohere IRTER BITT?
()90 (b) 70

\/g()so (d) 64



Select the option that is related to
the third number in the same way as
the second number is related to the

first number.
78 : 138 :: 143 : ? :: 195: 345

wﬁmwwaﬁa’rwq‘dﬁ
gad_ ue

(c) 223 (9;4?3 @



Select the correct combination of
mathematical signs to sequentially
replace the * signs and balance the
given equation.

33*4*15*3*61 =188
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Select the option in which the
following figure is embedded.
(Rotation is NOT allowed)

I9 fadey &1 999 &, ﬁﬂﬁﬁﬁwﬁf
af+fed g1 (o9 &7 A -T2l )
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Select the figure from the options
that can replace the question mark
(?) and complete the pattern.

fAFpeal § 9 99 Adfa ST 999 I,
ol =1 arefa # uwEfe (7)) @ W W)
MR e BT gof St |
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(d)

Select the figure from among the
given options that can replaced the

(a / (<) xK— question mark (?) in the following
series.

fey U fadedl § | S9 AHfa &1 I
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Six friends J, K, L, M, N and O are
sitting around a circular table facing
the centre. N is not an immediate
neighbor of M. M is sitting to the
immediate left of J. J is sitting
opposite to L, who is sitting to the
immediate right of K. Who is sitting
second to the left of L?

B 3 J, K, L, M, N 3R O (& qaaR
A B IR BE BN AR T RS 93 T



In a certain code language, ‘CROSS’
is written as ‘66’ and ‘CHART’ is
written as ‘90°’ how will ‘SYMBOL’ be
written in that language ?

U fAfEd §c wmT_H,_‘CROSS’ &I 66

OITaT B | ST T Goxs
foram SITgeTT? :

82 h1C
(c) 76 fl-s'*m






Which of the following letter-clusters
should replace # and % so that the
pattern and relationship followed
between the letter-cluster pair on the
left side of :: is the same as that on
the right side of ::?

# : CLQ :: NDK : %

ﬁﬁﬁf@'ﬁﬁ'\qﬁﬁ?ﬁaﬁiﬂﬂgﬁﬁ, 4
IR % B Ufaefug H=A1 Ay dife ::
® q13 3R B AER—UYE JH P 419 Pl
U 3R Hey 991 81 8 o4 & :: & T
IR & IJER—TYE TH & 87

# : CLQ :: %ﬁ: T@\dﬁ
AJS
Abj# =_.AOO, % =R

(c) # = EIT, % QBN
(d) # = DIS, % = PBN



Select the number from among the
given options that can replace the
question mark (?) in the following

Serye€s\ /

1%;&532%3;.’?’377

feg U fAwcai § | 98 W& gfag,
fr=fefad sj@emr 4 wed R (?) @t
gfaeenfdd &% 9 |

189, 532, 316, ?, 37

(a) 384 kdgﬁf§;1 (iii;)

c) 441 (d) 405



Select the option' that represents the
letters that, when placed form left to
right in the following blanks, will

comp e the l¢tter-sdries.
BVJR wj V W
o9 ﬁ?b_c'q ﬁﬂ S S R Pl
nfaffee oxar 8 o fAmfolRaa R
WHE # ¢ ¥ TW W oM W
HER—F@eT QNI BT SIGT |

_~1a) BVKRWMR  (b) AVKRWMR
(c) AVKRXNR  (d) BWKRWMR

Ay T 8 F=a



lpaper and the manner in which the
fulded paper has been cut is shown

———_— belaw Choose a figure which would
most closely resemble the unfolded
E from of the paper.
A U SRS ® U Chs dl Algd DI
MMO’(W] 9 AR S TU SIS BT PHIed BT APl

@R,W[%ﬁﬂmw%lﬁqwmﬁﬁﬁg

I... ....... N pemmm———— The sequence of folding a piece of
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Select the correct mirror image of
the given combination when the
mirror is placed at ‘PQ’ as shown
below.

oY T B R & IFER ‘PQ’ W &I
o ar & O Ry v §ae e &1 g9ur H
faffa wdr ufafds =g S|

Wh ” ?\* :
ad2niCvh6iOvr
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Figure A is related to B in a certain
pattern. Following the same pattern,

? figure C is related to D. study the
pattern and select the figure which
should be placed in place of D.

@ P A TP FARR=a Yed 4 smafa B 9
Hefrd 81 S e BT SERUT HRA TG,
a@ﬁrca@ﬁrn'@rwﬁﬁ%lﬁﬁﬁr
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‘A # B’ means ‘A is the brother of B’.
‘A @ B’ means ‘A is the daughter of B’
A & B’ means ‘A is the husband of B’
IfD@N@H&Y @F % V, then how
is N related to F?

A # B’ &7 32f ‘A, BHT 4TS 2|

A @B FT 3 ‘A, B3I GAT 3|

A & B’ &7 31%f ‘A, B &7 Ufd 2|

A % B’ &7 31ef ‘A, B P Uil B |

ICD@N@H&Y@F %V®E A N,F
3 Fow e R BT —

(a) Son’s wife / JATY
(b) Daughter / EﬁT @/
\_A4c] Daughter’s daughter / LEIRCT4E]l

(d) Sister’s Daughter / I



Six friends A, B, C, D, E and F are
standing in a circle facing the centre.
B is between F and C, A is between E
and D, and F is to the immediate left
of D. Who is between A and F?

8: i3 A,B,C,D 3R F (& g § 3 I
AT BlHR @S 5| BF IR C D
Y2 ALEIRDDITF 23R F,
® 3P I8 AR S| AMRF D T
DI 8?

o FF

_|ayD (b) E

(c) C (d) B



In a certain code language, ‘PAINT’ is
written as ‘80’ and ‘DROP’ is written
as ‘59’. How will ‘MARKET’ be written
in that language?

PIS HIET ¥, ‘PAINT’ &I 80

(DROPD Y ‘59’ forn wmam &1 S
60 80 ‘MARKET’ $ &9 for@r wmeem?
M (b) 85
(d) 90



Select the option that represents the
letters that, when placed from left to
right in the following blanks, will
complete the letter-series

QWRTQ_FR _ T__BRT
99 fAdes @1 == aﬁ S S 3R BT

gfafaftea oxar 8 e fA=faRaa Rea
wﬁrﬁw@r LEC] TR IAER
ST

QWRTIQWFR lowqd TRWHRT
(QFWTGRQX
M EXTGRQX

YEWTGR QW

(EWTHSQW

S
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Which of the following letter-clusters
should replace # and % so that the
pattern and relationship followed
between the letter-cluster pair on the

left side of :: is the same as
# : DKR :: PCL : %.

fAfafeRea # &4 o9 4 R GE @1, #
3R % &I ufawrnfia s =rfey dife -
D 98 IR D MR GIE TH D &9 B
ﬁﬁ@?ﬁéﬁ%ﬂﬁﬁﬁﬂ%::%ﬂé

ar’%l

%



D

‘A # B’ means ‘A is the brother of B'
‘A (@ B’ means ‘A is the daughter of B’
‘A & B’ means ‘A is the husband of B’
‘A % B’ means ‘A is the wife of B’
IfW%D#G @B &M @ I, then how is
D related to M?

‘A#B BT AT T ‘A, B BT HS & |
‘A@B’ &1 3f & ‘A, B &I JAI 7|
‘A & B’ FT 31ef 8 ‘A, B &1 UfJ & |
‘A% B’ T 3 B ‘A, B DI TH! T |
ITW%D#G@B&M®@I, 8 d ‘D,
M ¥ 59 yer Hefa 87

(a) Father’s father / QIQl

(b) Father / foar

(c) Grandson / qrar

\_(d)Son / JA



Out of the following five figures, four
are alike in some manner and one

differs from these in that manner.
Select the odd figure.

A @ TE U arefodl # W AR far
Y6R | UF WAF & AR (d STd 3|
S IR MHIA BT TG BN |




Select the set in which the numbers
are related in the same way as are
the numbers of the following sets.
(NOTE : Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits, .E.g. 13 -
Operations on 13 such as adding /
deleting / multiplying etc. to 13 can
be performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and 3
is NOT allowed)

(11, 33, 17), (18, 44, 21)
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Out of the following five figures, four
are alike in same manner and one
differs from these in that manner.
Select the odd figure.

Qg U ar@m’f 79 9rR {0
YPR ¥ TP G9F & AN U IGTd &

4




Figure A is related to B in a certain
pattern. Following the same pattern,
figure C is related to D. Study the
pattern and select the figure which

should be placed in ce nf D.
pfad A T fHREa %Ff

ﬂﬁﬁ%lﬂﬂaﬁmwmgm
AP C, AMHfd D | Hadd & | Yed &
ITF PTG 3R TH FMPfd &1 aIqF
ot R D & WM W @ WMl

TR | 3

(a) € O
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a |G |
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In the following question, the
Statement is followed by two
conclusions. Which of the two

conclusions is/are true?
Statement: M < k > I <5 F
A M<K —

MA2G

9 UE ¥ TS $YF B 915 o Ty g
MBI I H A B 9/ ey 9

? t(-\
I<J>H=G=F
S ST
o >

(a) y conclusion I is true

(/{-Iﬂ Both conclusions I and II are true

(c) Only conclusion II is true
(d) Neither conclusion I nor II is true



(Frones 12>

51“1}9(1 Vodeatz D%\wﬂ

X
. 169 C (¥5ec )\f@d/ de



(GL3023 /Dﬁ Qs

-0




